BRAE] b
olsiA

S HIY/NE

‘%:!

=8z

[

o[O|X]

| > MK

o

i

o4

[ S

© HEINRICH KIPP WERK GmbH & Co. KG

g

L3

[

X1 1L Ol AEISS A
&a Eol = 28 2 £4H|2
My

MEME:

o2 =E£ 5H ol 28t FH3Z X2
HEE YX|GHOF o= ol ASH.

HH ZEEE +SCE E R LIE HE

PIXIZ 0I5 E = US.

2 AlZh 281 U &HF EO| CHAl Fl=

AE Ex|sty| lsiMe Bt C E= DE

o|&atiof &.

oy ot |> 3

H1 o nm A

on re =
gl

o
o7}
5 1>

g ®2l:
|2 1.4305.
4034,

0.

it L
ol >=ou o
oy e
-

r

A
il

ol > o
ey e

|, Bstz|x| k&
2|2 1.4305.

1.4305.

oA

HAZY - H, A

HH OfF2:

AR HA:

LEAL 2|2, dE et #ME|,

o= E, 33 &2l ot & 4 &E M2l

AH|IQIZ|A AR HFA:

LIAL &2, FEE X2

= E, Zs 2 At FHE &2l
= E R8s 2 Aok, FEE 2.
HAIE 18], A3|M RAL7021.
AL

Ea MA HH

EHME:

EIU A &2 &R Q12 &2 HE QIS
ElQB: &2 &% 3, &2 HE U2
Ell C: &2 22 US, H2 HE s
ElUD: &3 &% S, HF UE US

www.kipp.com

- info@kipp.com

1/3



°
o= = m— [ ——
SZtAE HAYE Jglu HAZEE &= B o= 2B =2 AH|olE|
]
A OlA Z K]
=M
® n2 © - Dz ®
| Sw1
o T Sw1 5 ‘
g —J
i ‘
harf I by 183
q |
= w SW2 - W
Sw2
D35 03%
| ot | o1 |
Z5 29
oluA ZRIX AT EE A A AL
FEHS EfQJ 2 xf & A2 E D D1 D2 L L1L2L3 2EE3 SW1 SW2 Fx30° A& B
S Er o E=2
F12E. N F22.N
K0630.21903 A AE] 23 3 M6x0,75 14 33 12 5 10 5 8 - 0,8 45 12
K0630.21004 A AEl A8 4  Msx1 18 40,5 15 6 13 6 10 - 1 6 15
K0630.21105 A AE A8 5 M10x1 21 46,517 7 15 8 13 - 1,3 5 16
K0630.21206 A AE A3t 6 M12x1,5 25 54,7 20 8 17 9 14 - 1,8 6 18
K0630.21308 A AEl A8 8 M16x1,5 33 72 26 10 23 12 19 - 2,3 15 45
K0630.21410 A A 28 10 M20x1,5 33 79 28 1225 15 22 - 2,8 15 43
K0630.21412 A AEl Zs 12 M20x1,5 33 84 281425 18 22 - 2,8 15 51
K0630.21516 A AEl A3 16 M24x2 40 104 32 18 28 24 27 - 3,2 20 50
K0630.201903 A  AHQIFA AE 28 3 M6x0,75 14 33 12 5 10 5 8 - 0,8 45 12
K0630.201004 A  AHIQIFA AE A8 4 M8x1 18 40,5 15 6 13 6 10 - 1 6 15
K0630.201105 A  AEQIHA A&l Z8 5 M10x1 21 465 17 7 15 8 13 - 1,3 5 16
K0630.201206 A  AEIQIFA AE A8t 6 M12x1,5 25 54,7 20 8 17 9 14 - 1,8 6 18
K0630.201308 A  AE(QIHA AEl Z#s 8 M16x1,5 33 72 261023 12 19 - 2,3 15 45
K0630.201410 A  AEQIHA A&l Z& 10 M20x1,5 33 79 28 1225 15 22 - 2,8 15 43
K0630.201412 A  AHIQIFA AE A8 12 M20x1,5 33 84 28 14 25 18 22 - 2,8 15 51
K0630.201516 A  AE(QIHA AEl 7%t 16 M24x2 40 104 32 18 28 24 27 - 3,2 20 50
K0630.211903 A  AE|elEA A8l H|ZS 3 M6x0,75 14 33 12 5 10 5 8 - 0,8 45 12
K0630.211004 A  AEClBA A8l H|ZS 4 M8x1 18 40,5 15 6 13 6 10 - 1 6 15
K0630.211105 A  AEQlEA AEl  H|ZS 5 M10x1 21 465 17 7 15 8 13 - 1,3 5 16
K0630.211206 A  AEQlEIA ARl H|ZS 6 M12x1,5 25 54,7 20 8 17 9 14 - 1,8 6 18
K0630.211308 A  AEClBA A8l H|ZS 8 M16x1,5 33 72 26 1023 12 19 - 2,3 15 45
K0630.211410 A  AE|QlEA A8l H|ZS 10 M20x1,5 33 79 281225 15 22 - 2,8 15 43
K0630.211412 A  AEQlEIA A8l H|ZS 12 M20x1,5 33 84 28 14 25 18 22 - 2,8 15 51
K0630.211516 A  AE(ClBIA A8l H|ZS 16 M24x2 40 104 32 18 28 24 27 - 3,2 20 50
K0630.22903 B AE Zs 3 M6x0,75 14 33 12 5 10 5 8 10 0,8 45 12
K0630.22004 B AE A8 4 Msx1 18 40,5 15 6 13 6 10 13 1 6 15
K0630.22105 B AE A8 5 M10x1 21 46,517 7 15 8 13 17 1,3 5 16
K0630.22206 B A€l Zs 6 M12x1,5 25 54,7 20 8 17 9 14 19 1,8 6 18
K0630.22308 B AE A8 8 M16x1,5 33 72 26 10 23 12 19 24 2,3 15 45
K0630.22410 B AEl Zs 10 M20x1,5 33 79 28 1225 15 22 30 2,8 15 43
K0630.22412 B AEl 78 12 M20x1,5 33 84 281425 18 22 30 2,8 15 51
K0630.22516 B AE A3 16 M24x2 40 104 32 18 28 24 27 36 3,2 20 50
K0630.202903 B  AEHIQIFA AE ZAs 3 M6x0,75 14 33 12 5 10 5 8 10 0,8 45 12
K0630.202004 B  AHQIFA AE A3 4 M8x1 18 40,5 15 6 13 6 10 13 1 6 15
K0630.202105 B  AEQIEIA AR Zds 5 M10x1 21 46,517 7 15 8 13 17 1,3 5 16
K0630.202206 B  AHIQIEA AR A3t 6 M12x1,5 25 54,7 20 8 17 9 14 19 1,8 6 18
K0630.202308 B  AEQIEA AE 48 8 M16x1,5 33 72 26 10 23 12 19 24 2,3 15 45
K0630.202410 B  AEQIEIA AE 28 10 M20x1,5 33 79 281225 15 22 30 2,8 15 43
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
o= = m— [ ——
SZtAE HAYE Jglu HAZEE &= B o= 2B =2 AH|olE|
]
A OlEIA =X
Z=5 29
FEHS Etel B4l xa =2 E D D1 D2 L L1L2L3 AEE3 SW1 SW2 Fx30° AR Erg
S EtN SR
F12E. N F22.N
K0630.202412 B  AEICIHA AE 28t 12 M20x1,5 33 84 28 14 25 18 22 30 2,8 15 51
K0630.202516 B  AE|QIHA AEl Z3 16 M24x2 40 104 32 18 28 24 27 36 32 20 50
K0630.212903 B  AEQlEA A8l H|ZS 3 M6x0,75 14 33 12 5 10 5 8 10 0,8 45 12
K0630.212004 B  AEClA A8l H|ZS 4 M8x1 18 40,5 15 6 13 6 10 13 1 6 15
K0630.212105 B  AE|QlA AEl  H|ZE 5 M10x1 21 465 17 7 15 8 13 17 1,3 5 16
K0630.212206 B  AEQlBIA A8l H|ZS 6 M12x1,5 25 54,7 20 8 17 9 14 19 1,8 6 18
K0630.212308 B  AH[QIEA AR H|ZES 8 M16x1,5 33 72 261023 12 19 24 2,3 15 45
K0630.212410 B  AHIQIMA ARl H|ZAS 10 M20x1,5 33 79 281225 15 22 30 2,8 15 43
K0630.212412 B  AE[QlEIA A8l H|ZS 12 M20x1,5 33 84 28 1425 18 22 30 2,8 15 51
K0630.212516 B  AH[QIB|A AR H|ZESt 16 M24x2 40 104 32 18 28 24 27 36 3,2 20 50
K0630.23105 c AE] A3 5 M10x1 21 49,5 17 10 15 8 13 - 1,3 5 16
K0630.23206 c AE A8 6 M12x1,5 25 57,7 20 11 17 9 14 - 1,8 6 18
K0630.23308 C AEl 28t 8 M16x1,5 33 76 26 14 23 12 19 - 2,3 15 45
K0630.203105 C  AHQIEA AE A3 5 M10x1 21 49,5 17 10 15 8 13 - 1,3 5 16
K0630.203206 C  AEIQIEIA AR A8 6 M12x1,5 25 57,7 20 11 17 9 14 - 1,8 6 18
K0630.203308 C  AHQIEA AR Zs 8 M16x1,5 33 76 26 1423 12 19 - 2,3 15 45
K0630.213105 C  AE|QlEA AEl  H|ZE 5 M10x1 21 49,5 17 10 15 8 13 - 1,3 5 16
K0630.213206 C  AEQlBlA A8l H|ZS 6 M12x1,5 25 57,7 20 11 17 9 14 - 1,8 6 18
K0630.213308 C  AE[ClBA A8l H|ZS 8 M16x1,5 33 76 26 14 23 12 19 - 2,3 15 45
K0630.24105 D AEl A8 5 M10x1 21 49,5 17 10 15 8 13 17 1,3 5 16
K0630.24206 D AE A8 6 M12x1,5 25 57,7 20 11 17 9 14 19 1,8 6 18
K0630.24308 D A& Zs 8 M16x1,5 33 76 26 1423 12 19 24 2,3 15 45
K0630.204105 D  AEIQIHA A& Zs 5 M10x1 21 495 17 10 15 8 13 17 1,3 5 16
K0630.204206 D  AEIQIFIA AE A8 6 M12x1,5 25 57,7 20 11 17 9 14 19 1,8 6 18
K0630.204308 D  AE(QIHA AEl Zs 8 M16x1,5 33 76 26 1423 12 19 24 2,3 15 45
K0630.214105 D  AEQlEIA AEl  H|ZE 5 M10x1 21 49,5 17 10 15 8 13 17 1,3 5 16
K0630.214206 D  AE[ClBlA A8l H|ZS 6 M12x1,5 25 57,7 20 11 17 9 14 19 1,8 6 18
K0630.214308 D  AHIQlBIA AR H[ZFS 8 M16x1,5 33 76 26 14 23 12 19 24 2,3 15 45
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



